# Governmental Banking Finance and its Impact on GDP (Gross domestic product) and Household Expenditure in Iraq for the Period from (2004-2017)

<sup>1</sup>Safa Rabeeh Abdulhasan, <sup>2</sup>Asst. Prof. Dr. Ghassan Tareq Dhaher

Abstract----Iraqi banking sector witnessed many reforms after 2003, like issuing several laws, including regulating the work of monetary policy such as Law No. 56 of 2004, that allowed the independency for Central Bank, after it was a tool to finance the deficit of government budget, as well as restoring confidence to the local currency and the fight against deflate. The commercial banking sector witnessed the issuance of Law No. 94 of 2004, which granted banks the freedom to expand their credit limits and left the setting of the creditor and debtor interest rates. Commercial banks began to expand the granting of domestic credit in light of the economic liberalization witnessed in Iraq. However, governmental commercial banks played the largest role in covering the market with the necessary financing, by the expansion of loans granting in all forms, through its seven banks (-Rafidain bank, Al-Rasheed Bank, the Trade Bank of Iraq and Alnahrain Islamic Bank and the three specialized banks). In light of the apparent decline of contribution of private commercial banks, so the subject of research discusses the role of commercial banks in stimulating economic growth, for the period 2004-2017, by the construction of standard models, using models of time lag (ARDL).

Keywords---- Governmental Banking Finance, economic growth, quantitative analysis (ARDL).

## I. Introduction

The banking sector plays an outstanding role in stimulating economic growth by directing funds towards economic growth channels, but this is not a static economic law that applies to all economies. Economic literature indicates that many economic systems in which the banking sector played the biggest role in it collapse, and there are many evidence, perhaps the mortgage crisis of 2007 witnessed by the US economy is a historical example, due to the expansion of mortgage banks, in granting cash credit, without covering the risks, but exceeded the minimum liquidity, and on the other hand several countries witnessed achieving of high rates of growth, the banking sector represent a turning point from less developed countries.

The Iraqi banking sector is one of the main sectors that played a vital role in financing the budget deficit in Iraq before 2003. During the change of the political system, the new government resorted to restructuring the banking sector in general. Iraqi banks have taken great steps in improving their credit policies commensurate with the new details in spite of the issuance of many laws to regulate the banking sector, but it is still in real need to reconsidering its plans adopted, to stimulate the abilities of the Iraqi banking sector, and enhance the opportunities for its contribution to the mobilize savings

<sup>&</sup>lt;sup>1,2</sup> College of Administration and Economics, Al-Muthanna University, Iraq.

safamnmsafa@gmail.com1, Dr.Ghassan79@yahoo.com2

and attracting domestic and foreign deposits if the fundamental requirements are available, especially the re-confidence of the citizens of these banks, through the establishment of a deposit guarantee company with the availability of a successful banking administration, may be the only way to strengthen the role of these banks and reduce the incidence of financial corruption. As well as mobilizing and directing savings towards investment channels that stimulate economic growth, based on international standards. The commercial banks resort to maintaining very high liquidity ratios than those approved by the Basel III Committee. Therefore, this research paper is dealing with the impact of Governmental Banking Finance in stimulating economic growth variables for the period 2004-2017.

#### First: Study problem

Iraqi commercial banks have been very interested in the past decades, playing a catalytic role in supporting the trade and investment movement, so the problem of research is:

- Does the governmental banking finance play a role in stimulating Iraqi economic activity?
- Is governmental banking finance able to equate the increasing demand for money?
- Is there a weakness in the financing of public or private commercial banks?
- Is the liberalization of governmental commercial banks contributing in achieving high rates of economic growth?

#### Second: Study importance

The importance of research arise from the main role of Iraqi governmental banking finance for the period (2004-2017) in raising the contribution of economic sectors in the composition of GDP (Gross domestic product) and thus improving the level of welfare. Government finance is the engine of economic growth and thus a reflection of the domestic economy.

#### Third: Study objective

To knowthe concept of bank financing and its importance and objectives in light of the rapid movement of capital as a result of mergers and financial liberalization witnessed by the Iraqi economy. In view of the importance of government banking financing in Iraq, the impact of directing these savings on economic growth, represented by GDP, investment, welfare and trade, was discussed for the period (2004-2017).

#### Fourth: study hypothesis

The research is based on the hypothesis that (economic growth can be enhanced with the expansion of governmental banking finance and directed to the real investment channels in Iraq for the period 2004-2017.

#### Fifth: Study sample

The research sample included the seven main government banks in Iraq (Al-Rafidain bank, Al-Rasheed Bank, Trade Bank of Iraq, Alnahrain Islamic Bank and other specialized banks) for the period (2004-2017).

#### Sixth: Methods of data collection

The theoretical part of the study based on a collection of foreign and Arabic research and books. The analysis side adopted the annual statistical publications of the Central Bank of Iraq published as reports and data available on the website of the Central Bank of Iraq or through field visits of the research sample.

#### First requirement: The concept of bank financing

Bank financing is a feature of the banks' work. Without it, the bank loses its main function as a financial intermediary in the economy, but at the same time, risks play a major role in restricting the movement of these banks due to bank default. There is a set of rules, regulations and standards that banks use to reduce the size of risks or what called (bank hedging), such as raising liquidity rates or requesting more guarantees. (Al-Ameen and Al-Daghaim, 2006: 194 \_196). In view of the aforementioned, it is necessary to know the factors that affect the size and nature of bank financing. There are two types of frameworks that can facilitate access to credit and improve its distribution; they are Credit information systems for borrowers, the laws of guarantees and bankruptcy (p246:2009, T.N.Hajela).

Bank financing has defined the English economist (George Douglas) as the purchasing power doesn't derived from within, a purchasing power of financial institutions, as compensation for entrythat suspended to depositorbanks or as an additional to the total net amount of purchasing power (p246: 2009, T.N.Hajela).

It is also defined as one of the decisive factors that enable individuals to escape poverty through enhancing productivity, affecting savings rates, investment decisions, technological innovations and long-term growth rates. The importance of bank financing is recognized as a public benefit and everyone is entitled to it without discrimination as the case of accessing to water or basic education, as it is not less important. (134: p2012, et al Rajani)

Therefore, banking finance plays an important role in the distribution of financial resources available to the banking system in various sectors and economic activities to ensure the efficient use of these resources by distributing them to various projects according to their needs (Al-Douri and Al-Samarrae 2006: 75). Financing contributes in the operation of suspended resources by directing funds towards the most beneficial channels, so financing eventually contributes to increased national income. (Taha, 2006: 439).

#### Second requirement: banking reforms in Iraq after 2003

Banking system is the main sector and is financier to various economic and social processes within the framework of the objectives and policies of the development plans. Since 2003, the banking system in Iraq has been subject to several reforms to bring it into line with the new data, the first of which was the promulgation of Law No. 56 of 2004 under the Coalition Provisional Authority, which included restructuring and reforming monetary policy work by:

1. Re-confidence the Iraqi currency.

- 2. Confronting inflationary pressures
- 3. Independence in the management of Central Bank
- 4. Stop lending the government

5. Determine the minimum capital of new and existing banks, not less than one billion dinars to the existing bank and 50 billion Iraqi dinars to the new bank.

6- Allow foreign banks to open branches "and offices within Iraq and participation in the capital of Iraqi banks, whatever the ratio and without restrictions to create competition aimed at the development of banking.

7 - Reduction of the legal reserve ratio from 42% to 25%, including 5% in the form of cash in the coffers of the same bank and 20% reserve with the Central Bank.

8- Set up the window of foreign currency to contribute to the improvement of stability in the exchange rate of the Iraqi dinar and fill the growing domestic demand for foreign currency dollar. (Saad, 2015: 23)

9- Under the new banking law No. 94 of 2004, the Central Bank was able to impose preventive control through regulations and its applications away from coercive control measures, which enabled the banking system to operate according to the flexible and efficient banking systems. (Hussein, 2013: 183)

### Structural reforms in commercial banks were:

- 1. The issuance of Law No. 94 of 2004, which defined the official identity of commercial banks and allowed them to carry out financial clearing operations such as interest rate agreements or commodity swap agreements, as well as immediate commodity sales, It also allowed it to conduct its banking business freely, provided that it does not deal with illegal issues, by forcing it to submit annual and monthly reports to the Central Bank as well as to audit by the central bank inspectors, and to audit the final accounts of those banks and also imposed on them to maintain liquidity ratios and comply with the economic situation in accordance with the requirements of Basel III to ensure the rights of depositors, in return granted credit consumption and investment to stimulate economic activity after the verification of the identity and financial status of the loan applicant. Under the above-mentioned law, eight Islamic banks with a capital of 702.4 billion dinars were allowed to be established and Later, Law 43 was issued in 2015 by establishing the first Islamic bank which is Al-Nahrain Islamic Bank of the Two Rivers. (Iraq Financial Stability Report, 2015: 7)
- 2. On the other hand, the reforms allowed foreign banks to work based on the methodology of the transition to a market economy based on:
- **A-** Set interest rates and cancel credit plans.
- B- Opening the chance to work for foreign banks, either through participation in local banks, without setting any limits to the proportion of participation or open branches in Iraq without the determination of capital in addition to the possibility of opening representative offices. (Shammari, 2008: 106).

## Third: Analysis of government banking financing and its impact on economic growth in Iraq

1- The relationship between government bank financing and Gross Domestic Product

The Iraqi economy faced great challenges during the past decades, which negatively affected it, especially the nineties of the last century as a result of the international sanctions in accordance with resolution No. 661 in 1995, which reduced the bordered of Iraq and the decline in the growth rates of Gross Domestic Product growth; Therefore, the first steps of the reform were to achieve high growth rates to meet the increasing domestic demand after 2003 through the increase or expansion of public spending and the granting of long-term credit at compound interest rates. The evolution of the growth rates of the variables under study can be explained by the following table:

 Table (1) Cash Credit granted by Governmental Commercial Banks and Gross Domestic Product and Household

 Expenditure for the Period (2004-2017) (Million IQD)

Years	Governm	Annual	Gross	Annual	Househol	Annual
	ent cash	Growth	Domestic	Growth	d	growth rate
	credit	Rate *	Product At	Rate *	expenditure	*

			Current			
			Prices			
2004	204,406		53,235,35		19,538,77	
			8		3	
2005	767,163	1.32	73,533,59	0.32	27,593,24	0.34
			8		0	
2006	783,884	0.02	95,587,95	0.26	35,526,34	0.25
			4		0	
2007	1,071,587	0.31	111,455,8	0.15	42,963,01	0.19
			13		3	
2008	609,153	0.56-	157,026,0	0.34	49,091,35	0.13
			61		6	
2009	1,043,895	0.53	130,642,1	0.18-	68,256,19	0.32
			87		3	
2010	3,194,404	1.11	167,093,2	0.25	72,026,32	0.05
			04		4	
2011	8,987,768	1.03	217,327,1	0.26	77,412,59	0.07
			07		4	
2012	13,788,58	0.42	254,225,4	0.16	101,000,0	0.26
	6		90		00	
2013	13,004,47	0.05-	267,395,6	0.05	132,696,0	0.27
	9		14		00	
2014	16,377,92	0.23	266,420,3	0.003-	141,724,8	0.06
	6		84		00	
2015	18,682,62	0.13	199,715,6	0.29-	124,352,1	0.13-
	8		99		00	
2016	18,999,15	0.01	203,869,8	0.02	131,552,3	0.05
	3		32		00	
2017	18,500,53	0.02-	225,995,1	0.10	141,539,9	0.07
	6		79		62	

\* The Central Bank of Iraq, Directorate General of Statistics and Research, annual publications, various preparations, available on the official website of the Central Bank www.cbiraq.org

\* Data from the World Bank Group https://data.albankaldawli.org

\* Growth rate was calculated by the researcher according to the following formula Growth Rate = Ln(v2) - Ln(v1)

Table 1 shows that the total cash credit granted increased significantly to reach (204,406) million Iraqi Dinars in 2004, increasing to (3,194,404) million Iraqi Dinars in 2010 with an annual growth rate of (1.11), As a result of the continuation of government banks to support the economic sectors, in 2017 the total cash credit granted (18,500,536) million Iraqi

dinars and an annual growth rate (-0.02), and with regard to the gross domestic product in Iraq took an upward path, indicating the improvement in the structure of Gross Domestic Product Although this improvement was below the required level and did not contribute to increasing domestic demand, the gross domestic product (GDP) reached 53,235,358 million Iraqi dinars in 2004, rising to 167,093,204 million Iraqi dinars in 2010 with an annual growth rate of 0.25 ) To continue to rise to (255,995,179) million Iraqi dinars and Annual growth rate (0.10) in 2017.

#### 2- Government banking finance and its impact on the prosperity

For decades, the Iraqi individual suffered from hunger and poverty. Perhaps the 1990s were the hardest on the citizen, so there was a backlash after 2003, which was the rise in consumer spending excessively to meet the shortfall and deprivation, However, this spending, despite the high speed of money circulation, did not contribute to stimulating investment activity, but went towards consumer goods and services, which left a gap between the rise in consumer spending and the decline in investment spending. This can be explained by the data in Table (1). Household expenditure reached about 19,538,773 million Iraqi dinars in 2004 and continued to rise for the following years, then decreasing to (124,352,100) Iraqi Dinars in 2015 with a negative growth rate of 0.13-) And then increased to (141,539,962) million Iraqi dinars and an annual growth rate (0.07) in 2017 as a result of the improvement of the situation of the country.

Fourth: Measuring the government bank financing and its impact in stimulating economic growth in Iraq

#### First: Specification of standard models

Before characterizing the sample data, it should be noted that many researchers suffer from statistical problems due to the distorted standard models, which caused the researchers to rely on small observations, so the annual data were converted to quarterly based on E\_VIEWS.9 program in order to obtain statistically significant standard models, these models can be described as listed in the table below:

Economic variables	Code			
Independent variable	CCG			
Dependent variables	GDP			
	EX			
Source: Prepared by the researcher				

#### Table (2)Describe of the interpreted and dependent variables

Second: Silence test

#### 1. Determine the length of the Slow-down period

Before the start of a stability test, the slowdown intervals for all variables were determined according to the Schwarz standard, which are,(5), slowdown periods for government cash credit, (5) slowdown periods for GDP, and (2) slowdown periods for household expenditure.

International Journal of Psychosocial Rehabilitation, Vol. 24, Issue 04, 2020 ISSN: 1475-7192

## 2. Testing the root of the unit

The Augmented Dickey-Fuller (ADF) test was adopted to detect the absence of any time trend between the time series values of the search sample, after re-testing, the time series stability was determined at the first difference, as shown in Table (3):

Test of Augmented Dickey-Fuller (ADF)					
Vector	Test	At First Difference			
				At level	
		GDP	CCG	EX	
Only	t statistic	-2.190908	-3.022037	-0.747956	
Segmentation	prob.t	0.2120	0.0391	0.8254	
	t-table				
	%1	-3.568308	-3.557472	-3.557472	
	%5	-2.921175	-2.916566	-2.916566	
	%10	-2.598551	-2.596116	-2.596116	
Segmentation	t statistic	-2.235069	-2.971568	-3.280663***	
and General	prob.t	0.4604	0.1496	0.0806	
Direction	t-table				
	%1	-4.152511	-4.137279	-4.140858	
	%5	-3.502373	-3.495295	-3.496960	
	10%	-3.180699	-3.176618	-3.177579	
Without	t statistic	-1.932362	-2.699095		
Segmentation and	prob.t	0.0517**	0.0078*		
General Direction	t-table				
	%1	-2.612033	-2.608490		
	%5	-1.947520	-1.946996		
	10%	-1.612650	-1.612934		

\*Prepared by the researcher based on the outputs of Eviews.9 Program

Results of the statistical program (\*) 1% (\*\*) 5% (\*\*\*) 10%

## **Third: Boundary Test**

1. Boundary testing refers to the relationship between the integration of government cash credit and GDP according to the following table:

	Ta	ble (4)ARDL B	ounds Test					
	D	ate: 01/06/19 Ti	ime: 01:41					
	1	Sample: 2006Q2	2017Q4					
	Included observations: 47							
	Null Hypothesis: No long-run relationships exist							
		k	Value	Test Statistic				
		1	5.283698	F-statistic				
		(	Critical Value Bo	unds				
		I1 Bound	I0 Bound	Significance				
		4.78	4.04	10%				
		5.73	4.94	5%				
		6.68	5.77	2.5%				
		7.84	6.84	1%				
	Da	tion: Dependent Method: Least ate: 01/06/19 Th Sample: 2006Q2	me: 01:41 ,	?)				
		Included observa	-					
Prob.	t- Statistic	Std. Error	Coefficie nt	Variable				
0.0059	2.94745 8	0.154845	0.456398	D(GDP(-1))				
0.3254	0.99872 8	0.173622	0.173401	D(GDP(-2))				
0.9870	- 0.016369	0.163073	-0.002669	D(GDP(-3))				
0.2158	1.26280 3	3.245685	4.098661	D(CCG)				
0.8082	0.24472 9	3.357259	0.821618	D(CCG(-1))				
0.9800	- 0.025287	3.421822	-0.086527	D(CCG(-2))				
0.8325	- 0.213277	3.414273	-0.728185	D(CCG(-3))				
0.9597	0.05095	3.940745	0.200803	D(CCG(-4))				

	6			
0.5614	0.58683 6	3.526712	2.069603	D(CCG(-5))
0.9867	0.01683 0	3.553287	0.059803	D(CCG(-6))
0.6629	- 0.439976	3.466025	-1.524968	D(CCG(-7))
0.0269	2.31904 9	3.403240	7.892279	D(CCG(-8))
0.0040	3.10034 4	5971470.	18513610	С
0.1990	1.31165 2	0.340269	0.446315	CCG(-1)
0.0069	- 2.890305	0.048210	-0.139342	GDP(-1)
3190195	Mean de	pendent var	0.567178	R-squared
1065015 3	S.D. dep	bendent var	0.377819	Adjusted R- squared
34.9794 1	Akaike ir	nfo criterion	8400676.	S.E. of regression
35.5698 8	Schwar	z criterion	2.26E+15	Sum squared resid
35.2016 1	Hannan-O	Quinn criter.	-807.0161	Log likelihood
1.83963 3	Durbin-	Watson stat	2.995248	F-statistic
			0.005036	Prob(F- statistic)

Table (5) indicate that there is no common integration between cash credit and household expenditure

ARDL Bounds Test				
Date: 01/06/19 Time: 01:22				
Sample: 2007Q1 2017Q4				
Included observations: 44				
mun relationshing avist				

Null Hypothesis: No long-run relationships exist

k	Value	Test Statistic
1	7.632905	F-statistic

## Critical Value Bounds

I0 Bound	Significance
5.59	10%
6.56	5%
7.46	2.5%
8.74	1%
	5.59 6.56 7.46

Test Equation:

Dependent Variable: D(EX) Method: Least Squares Date: 01/06/19 Time: 01:22 Sample: 2007Q1 2017Q4 Included observations: 44

Prob.	t-	Std. Error	Coefficie	Variable
	Statistic		nt	
0.0000	7.02929	0.138578	0.974105	D(EX(-1))
	9			
0.0027	3.35440	0.219508	0.736316	D(EX(-2))
	0			
0.0057	3.04911	0.242979	0.740872	D(EX(-3))
	8			
0.3720	-	0.183583	-0.167168	D(EX(-4))
	0.910581			
0.0001	4.79147	0.145470	0.697013	D(EX(-5))
	1			
0.0109	2.76908	0.179913	0.498194	D(EX(-6))
	8			
0.0147	2.63672	0.190792	0.503065	D(EX(-7))
	3			
0.3303	-	0.165616	-0.164713	D(EX(-8))
	0.994551			
0.0022	3.44062	0.150053	0.516275	D(EX(-9))
	4			
0.0287	2.33344	0.184392	0.430269	D(EX(-10))
	1			
0.0215	2.46750	0.212774	0.525022	D(EX(-11))
	4			

0.0053	-	0.720176	-2.218067	D(CCG)
	3.079897			
0.5894	0.54736	0.970670	0.531307	D(CCG(-1))
	0			
0.5454	-	0.726876	-0.446152	D(CCG(-2))
	0.613795			
0.4410	-	0.735720	-0.576864	D(CCG(-3))
	0.784080			
0.0003	-	0.760492	-3.274870	D(CCG(-4))
	4.306251			
0.1706	1.41444	0.909660	1.286663	D(CCG(-5))
	4			
0.6365	-	2231747.	-1068881.	С
	0.478943			
0.0009	3.80939	453920.9	1729165.	@TREND
	7			
0.0151	2.62476	0.315526	0.828181	CCG(-1)
	2			~ /
0.0008	-	0.198667	-0.765546	EX(-1)
	3.853404			
2443237	Mean dep	endent var	0.890100	R-squared
3848329	S.D. depe	ndent var	0.794535	Adjusted R-
				squared
31.8875	Akaike in	fo criterion	1744382.	S.E. of
5				regression
32.7390	Schwarz c	criterion	7.00E+13	Sum squared
9				resid
32.2033	Hannan-Q	uinn criter.	-680.5261	Log likelihood
4				
2.14237	Durbin-W	atson stat	9.314052	F-statistic
4				
			0.000001	Prob(F-
				statistic)

From the results of the boundary test the correlation between the two variables (CCG& GDP). We observe that the calculated F-statistic value is(5.28) greater than the maximum value of I1 at all levels of significance. Thus, this equation

is integrated between the (GDP &CCG), The relationship between (CCG& EX), The calculated F-statistic value was reached (7.63), greater than the maximum value of I1 and this equation is integrated

## Fifth: Method of Error Correction

A. The results of the short and long term relationship between the cash credit and GDP according to the ARDL model. From Table (6), we note that the coefficient of the error limit CointEq (-1) was (-0.139342) at a significant level (1%). In other words, short term deviations correct the long-term balance between (CCG& GDP), As for the long-term relationship, we note that the parameter of the independent variable was (3.203011) and the probability (0.0729), indicating that it is significant at the level of (1%) which has a long-term impact.

ARDL Cointegrating And Long Run Form								
	Dependent Variable: GDP							
	Selected Model: ARDL(4, 9)							
	Date: : 01/06/19 Time: 01:39							
	Sample: 2004Q1 2017Q4							
	Included observations: 47							
			Cointegrat	ing Form				
	Prob.	t-Statistic	Std. Error	Coefficient	Variable			
	0.0059	2.947458	0.154845	0.456398	D(GDP(-1))			
	0.3254	0.998728	0.173622	0.173401	D(GDP(-2))			
	0.9870	-0.016369	0.163073	-0.002669	D(GDP(-3))			
	0.2158	1.262803	3.245685	4.098661	D(CCG)			
	0.8709	0.163789	5.544617	0.908146	D(CCG(-1))			
	0.9088	0.115436	5.558538	0.641658	D(CCG(-2))			
	0.8784	-0.154263	6.022120	-0.928988	D(CCG(-3))			
	0.7645	-0.302204	6.183903	-1.868799	D(CCG(-4))			
	0.7303	0.347692	5.780407	2.009799	D(CCG(-5))			
	0.7854	0.274580	5.771611	1.584771	D(CCG(-6))			
	0.1168	-1.611948	5.842154	-9.417247	D(CCG(-7))			
	0.0269	2.319049	3.403240	7.892279	D(CCG(-8))			
	0.0069	-2.890305	0.048210	-0.139342	CointEq(-1)			

Table 6. The results of error correction and the short- and long-term relationship between cash credit and GDP

Cointeq = GDP - (3.2030\*CCG + 132864224.1677)

#### Long Run Coefficients

Prob.

t-Statistic

Std. Error Coefficient

Variable

0.0729	1.854489	1.727166	3.203011	CCG
			132864224	
0.0000	7.500802	17713335.7	.1	С

Source: Prepared by the researcher based on the outputs of Eviews.9 Program

B - Results of the short and long term relationship between cash credit and EX according to (ARDL) model

From the data of Table (7) we note that the coefficient of the speed of adjustment Coint Eq (-1) indicates that the value of the parameter amounted to (-0.765546) of the relationship between (CCG& EX), and at a level of significance (1%), i.e. deviations in the short term are corrected in the long term, and therefore there is a long-term equilibrium relationship. The long-term relationship is also significant at a significant level of 1%, and therefore there is a relationship between the variable in the long term.

Table 7. The results of the short and long-term relationship between cash credit and EX according to (ARDL)model

	ARDL Cointegr	ating And Lon	g Run Form	
		Dependent Va	riable: EX	
		Selected Mode	el: ARDL(12, 6)	
		Date: 01/06/19	Time: 01:22	
		Sample: 20040	Q1 2017Q4	
		Included obser	vations: 44	
		Cointegrat	ing Form	
Prob.	t-Statistic	Std. Error	Coefficient	Variable
0.0000	7.029299	0.138578	0.974105	D(EX(-1))
0.0027	3.354400	0.219508	0.736316	D(EX(-2))
0.0057	3.049118	0.242979	0.740872	D(EX(-3))
0.3720	-0.910581	0.183583	-0.167168	D(EX(-4))
0.0001	4.791471	0.145470	0.697013	D(EX(-5))
0.0109	2.769088	0.179913	0.498194	D(EX(-6))
0.0147	2.636723	0.190792	0.503065	D(EX(-7))
0.3303	-0.994551	0.165616	-0.164713	D(EX(-8))
0.0022	3.440624	0.150053	0.516275	D(EX(-9))
0.0287	2.333441	0.184392	0.430269	D(EX(-10))
0.0215	2.467504	0.212774	0.525022	D(EX(-11))
0.0053	-3.079897	0.720176	-2.218067	D(CCG)
0.4450	0.777129	1.257783	0.977459	D(CCG(-1))
0.9087	0.115962	1.127193	0.130711	D(CCG(-2))
0.0325	2.275198	1.185834	2.698006	D(CCG(-3))

0.0033	-3.278981	1.391144	-4.561533	D(CCG(-4))
0.1706	1.414444	0.909660	1.286663	D(CCG(-5))
0.0009	3.809397	453920.9	1729164.8	D(@TREND())
0.0008	-3.853404	0.198667	-0.765546	CointEq(-1)

Cointeq = EX - (1.0818\*CCG -1396232.9697 + 2258733.9892\*@TREND)

#### Long Run Coefficients

Prob.	t-Statistic	Std. Error	Coefficient	Variable
0.0004	4.178513	0.258900	1.081817	CCG
0.6290	-0.489747	2850929.5	-1396232.9	С
0.0000	15.789676	143051.3	2258733.9	@TREND

Source: Prepared by the researcher based on the outputs of Eviews.9 Program

We conclude from the error correction model that there is a short-term balance relationship capable of correcting the error between cash credit and other variables, and also a significant long-term correlation in the long-term between the variables under consideration.

## **II.** Conclusions

- 1. Government banking credit has taken an upward trend, as are the two variables GDP and household expenditure, indicating that government credit has a real impact on dependent variables under consideration according to quantitative analysis results.
- 2. The issuance of Law No. 56 and Law No. 94 of 2004 have had the greatest impact on developments in the Iraqi banking sector, thus achieving some successive successes, especially in the governmental banking sector, specifically the specialized banks that have exhausted all allocations to the private sector.
- The Bound test indicated that the F-statistic value exceeded the maximum value of the test results of the combined integration of cash credit and GDP and hence there is an integrative relationship between the two series.
- 4. The Bound test of the relationship between cash credit and household expenditure indicated that there was complementary relationship between the two chains.
- 5. There is a common correlation between all variables in the long and short term according to the results of the error correction test.

## **III.** Recommendations

1. Despite the increase in total cash credit towards the revitalization of the Iraqi market, but still in urgent need to review the credit policy followed, and to resort to mobilizing and directing cash credit towards the real investment channels in order to raise growth rates to the desired level.

- 2. Find other revenue outlets to avoid the fluctuation of international oil prices by relying on allocating or directing more credit towards other major sectors such as agriculture and industry, through specialized banks.
- 3. The necessity of increasing the effectiveness of private commercial banks in stimulating economic growth.
- 4. To resort to the government of government commercial banks to increase their effectiveness first and to free them from the government decisions subject to them and to exercise their role as banking institutions with their own entity.

## REFERENCES

- Adisanjaya, K., & Ramantha, I. W. (2018). Company area within effectiveness of accounting information system. International Research Journal of Management, IT and Social Sciences, 6(1), 8-18. https://doi.org/10.21744/irjmis.v6n1.431
- [2] Al-Dajim, Abdulaziz, Al-Amin, Iman Maher, Credit Analysis and its Role of Rationalization of Bank Lending Operations in the Syrian Bank, Tishreen Magazine for Studies and Scientific Research, Volume 28, No. 3, Damascus, 2006
- [3] Al-Douri, Zakaria, Al-Samarrai, Yousra, Central Banks and Monetary Policies, Al-Yazouri Scientific Publishing House, Amman, Jordan, 2006
- [4] Al-Shamari, Sadiq Arshad, Banking Management, Baghdad College of Economic Sciences University, Books and Documents House, Baghdad,2008.
- [5] Anandakumar, "Energy Efficient Network Selection Using 802.16g Based GSM Technology," Journal of Computer Science, vol. 10, no. 5, pp. 745–754, May 2014.
- [6] Asa, M., & Sari, M. M. R. (2019). Absorption of capital expenditure budget on regional apparatus organization in East Nusa Tenggara province. International Research Journal of Management, IT and Social Sciences, 6(5), 25-39. https://doi.org/10.21744/irjmis.v6n5.694
- [7] Central Bank of Iraq, Annual Report ,Financial Stability in Iraq, Directorate General of Statistics and Research, Research Department, Financial Market, 2015
- [8] Chedia.H,Ben.Moussa,M Determinants of Banks Lending:case of Tunisia Internation Journal of financial and Accounting vol.5, No.1,2016
- [9] Desfiandi, A., Suman Rajest, S., S. Venkateswaran, P., Palani Kumar, M., & Singh, S. (2019). Company Credibility: A Tool To Trigger Positive Csr Image In The Cause-Brand Alliance Context In Indonesia. Humanities & Social Sciences Reviews, 7(6), 320-331. https://doi.org/10.18510/hssr.2019.7657
- [10] Dewi, I. A. M. C., Sari, M. M. R., Budiasih, I., & Suprasto, H. B. (2019). Free cash flow effect towards firm value. International Research Journal of Management, IT and Social Sciences, 6(3), 108-116. https://doi.org/10.21744/irjmis.v6n3.643
- [11] Dewi, N. P. S. P., & Wirama, D. G. (2019). Debt covenant slack, earnings management, and value relevance of accounting information. International Research Journal of Management, IT and Social Sciences, 6(4), 86-96. https://doi.org/10.21744/irjmis.v6n4.661
- [12] Dr. P.S. Venkateswaran, Dr. A. Sabarirajan, S. Suman Rajest And R. Regin (2019) "The Theory of the Postmodernism in Consumerism, Mass Culture and Globalization" in The Journal of Research on the Lepidoptera Volume 50 (4): 97-113
- [13] Haldorai and A. Ramu, "The Impact of Big Data Analytics and Challenges to Cyber Security," Advances in Information Security, Privacy, and Ethics, pp. 300–314, 2018. doi:10.4018/978-1-5225-4100-4.ch016
- [14] Hussein, the life of Abdul Razzaq, the banking reform in Iraq, reality and requirements, research based on the Master's thesis (the good of banking and its impact on the indicators of the performance of the Iraqi economy), Journal of Qadisiyah for administrative and economic science, Volume 15, No. 1, 2013.
- [15] K. Mythili and H. Anandakumar, "Trust management approach for secure and privacy data access in cloud computing," 2013 International Conference on Green Computing, Communication and Conservation of Energy (ICGCE), Dec. 2013. doi:10.1109/icgce.2013.6823567
- [16] Kesuma, M. A., & Setiawina, N. D. (2019). Resistance of traditional storage traders in encounter mini-market competitors in Denpasar city. International Research Journal of Management, IT and Social Sciences, 6(4), 1-7. https://doi.org/10.21744/irjmis.v6n4.631
- [17] Klaorina, M. I., & Suprasto, H. B. (2019). Effect of consideration leadership style on budget participation relationship and managerial performance. International Research Journal of Management, IT and Social Sciences, 6(5), 60-64. https://doi.org/10.21744/irjmis.v6n5.698

- [18] Kurniawati, E. Y., Santoso, B., & Husnan, L. H. (2018). Budget Process of North Lombok Regency. International Research Journal of Management, IT and Social Sciences, 5(2), 9-14. Retrieved from https://sloap.org/journals/index.php/irjmis/article/view/34
- [19] Mora, M. L. C., & Triana, M. S. F. (2018). The Management of Process of the Budget Area. International Research Journal of Management, IT and Social Sciences, 5(2), 104-112. Retrieved from https://sloap.org/journals/index.php/irjmis/article/view/50
- [20] Mora, MM, Espinosa, MR, & Perez, AV (2018). Social role of economic and financial management in Ecuadorian universities. International Research Journal of Management, IT and Social Sciences , 5 (4), 61-70. https://doi.org/10.21744/irjmis.v5n4.264
- [21] Negara, I. P. A. A., & Budiartha, I. K. (2019). Effect of intervention of management and audit fee on auditor independence. International Research Journal of Management, IT and Social Sciences, 6(4), 31-36. https://doi.org/10.21744/irjmis.v6n4.639
- [22] Putra, I. G. B. W., & Sudana, I. P. (2019). Effect of auditor's role conflict on auditor's stress with core selfevaluations as moderators. International Research Journal of Management, IT and Social Sciences, 6(4), 147-155. https://doi.org/10.21744/irjmis.v6n4.669
- [23] Putri, Y. K. W., & Sujana, I. K. (2018). The influence of bid-ask spread and leverage on earnings management with good corporate governance as moderating variable. International Research Journal of Management, IT and Social Sciences, 5(3), 8-21. Retrieved from https://sloap.org/journals/index.php/irjmis/article/view/160
- [24] Rajani Guptea, Bhama Venkataramanib and Deepa Gupta, Computation of financial inclusion index for India, Procedia - Social and Behavioral Sciences, Volume 37, 2012
- [25] Romario, F. D., Putri, I. G. A. M. A. D., Badera, I. D. N., & Putra, I. N. W. A. (2019). Effect of budget participation towards regional government managerial performance. International Research Journal of Management, IT and Social Sciences, 6(3), 101-107. https://doi.org/10.21744/irjmis.v6n3.638
- [26] Saad, Dr. Muntadhar Fadil, Challenges Facing the Banking Sector in Iraq, Journal of Financial, Accounting and Administrative Studies, Issue 5, 2015.
- [27] Septian, I., & Astika, I. B. P. (2019). Halo effect moderating: impact of professional skepticism on auditor performance. International Research Journal of Management, IT and Social Sciences, 6(4), 189-196. https://doi.org/10.21744/irjmis.v6n4.680
- [28] Suman Rajest S, Dr. P. Suresh, "Confrontation on Modernism or Postmodernism Changes after the World War" in New Academia: An International Journal of English Language, Literature and Literary Theory, Volume: VII, Special Issue I, January 2018, Page No.: 50-76.
- [29] Suman Rajest S, Dr. P. Suresh, "The white Tiger by Aravind Adiga: Depiction of Fermentation in Society" in International Journal of Information Movement (IJIM), Volume: II, Special Issue VI, October 2017, Page No.: 189-194.
- [30] Soh, K.G., Japar, S., Ong, S.L., Soh, K.L.Physical activity and health promoting lifestyle among bachelor of nursing students in Malaysia(2018) International Journal of Pharmaceutical Research, 10 (4), pp. 41-46.
- [31] T.N.Hajela, money Banking and International Trada, Published by : Ane Books Pvt- Ltd Eighth Edition : 2009
- [32] Taha, Tariq, Banking Management in the Globalization and Internet Environment, Al-Fiker Al-Jamiee Publishing House, Cairo, 2006, p. 439
- [33] Thillaikkarasi, R., Saravanan, S., & Timple Dhivya, P. (2015). MPEG Video Compression Using DPCM and Neural Networks. International Journal of Advances in Engineering and Emerging Technology, 7(5), 262-266.
- [34] Sreelakshmi, S., & Shobna, M. (2015). An Innovative Driver Safety Enhancement Using Sensor for Vital Signal Monitoring. International Journal of Advances in Engineering and Emerging Technology,7(5), 267-277.
- [35] Goergiev, D. Mathematical error in "Incompatibility between quantum theory and consciousness" by Daegene Song (2008) NeuroQuantology, 6 (2), pp. 199-201.
- [36] Matsushima, K., Kotani, S. Neuronal microtubule-associated proteins: Insights into their structures and functions (2007) NeuroQuantology, 5 (1), pp. 9-31.